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™Me first step n USivuj Newtm's Secovd Law

is  alweys dmwing o Bree Body Dingram,

Shown o The n‘gh*. Theve are mly two W
forces on The MesS ~ ks weiﬁhi\’ and e normal
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The free hody diagram s redawn b fhre left -
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the mvnpw/\ deshed 3r~cen lines to Show He
* E oy axis.
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Stnce twa hox accelernies down fhe ramp, b acelention



in compongnt £7m woold ke 4= ocset -asinel

So N2ZL becomes
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ZF= ma
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3) N c05¢ - M9 =~k Sin B
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his (S 305* fwo elbua

(Nond ). So lets  solve!
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Plugging o The verhieal equation and Then solving  givegs us.
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tne units work ovt (st is dimensionless)
g=0 and So 0= S (0) =0 which

were verfioal ) fron 9= 9o
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whike that wosht oo bad once we thvow in Sone more
Poces o Prichin or other masses fren it an get prety tnwled.

There iS & woy that will resolt fn o lof tegS  algebra ) bot yov
nowe Hene Croafivdy, Dot mems ok a rofled cordincie
Gygﬂm.

Becawse we know the mags accelemdes dmn the Ikt lets

ve e aademfion to dofine our coordinodes:  Parallel fothe ramp

ond P@w(ar fo The ramp-

The fra hody dEc.aro.M fs again Shown fo the
left , but fwis fime fhe qreen doshed line
Shows L o Twe NLWIP. Not'ce The Mage
et ongle © is Then the angle between The
weight and the L axis (Shawn o greor.)

Ws fime Tle Normol furce (s Oﬂl\, in the L d\‘nch‘m) while

Notice
the welgut hos components in both the L & [ disectims. More

(mportomtly, fhe Acce lera fion s by the [ dichion.

Firally  wecan writt 0%t N2l
SRoma - 2F =M § EF =
Foom The free body diogram wr fan Rnally write oot
gF, = mo 5 SF =0
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O as'me (h Rut nohice we diduk need the
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TLOR : T on object is acelerding on on incined plane, fird
the Companevits o The vecins That ace /[ 4 L B
t+he indined plane. Then yoo will oy

ZF”': ma. % ZI':'L': o

Note that for o bese angle O The compavants
of gravity are:

W, = mgsine t w- "‘3“’39



